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Example Candidate Responses - Paper 2

Introduction

The main aim of this booklet is to exemplify standards for those teaching Cambridge IGCSE / IGCSE (9-1) Business
Studies 0450 / 0986 and Cambridge O Level Business Studies 7115, and to show how different levels of candidates’
performance (high, middle and low) relate to the syllabus requirements.

In this booklet candidate responses have been chosen from March 2020 exam series to exemplify a range of answers.

For each question, the response is annotated with a clear explanation of where and why marks were awarded or
omitted. This is followed by examiner comments on how the answer could have been improved. In this way, it is
possible for you to understand what candidates have done to gain their marks and what they could do to improve their
answers. There is also a list of common mistakes candidates made in their answers for each question.

This document provides illustrative examples of candidate work with examiner commentary. These help teachers
to assess the standard required to achieve marks beyond the guidance of the mark scheme. Therefore, in some
circumstances, such as where exact answers are required, there will not be much comment.

The questions and mark schemes used here are available to download from the School Support Hub. These files are:

0450 March 2020 Question Paper 22

0450 March 2020 Paper 22 Mark Scheme

Past exam resources and other teaching and learning resources are available on the School Support Hub:

www.cambridgeinternational.org/support



http://www.cambridgeinternational.org/support

Example Candidate Responses - Paper 2

How to use this booklet

This booklet goes through the paper one question at a time, showing you the high-, middle- and low-level response for
each question. The candidate answers are set in a table. In the left-hand column are the candidate answers, and in
the right-hand column are the examiner comments.

4 )

Examiner comments are
alongside the answers. These

Answers are by real candidates in exam conditions. explain where and why marks [~
These show you the types of answers for each level. were awarded. This helps you
Discuss and analyse the answers with your learners in to interpret the standard of

the classroom to improve their skills. Cambridge exams so you can

help your learners to refine
their exam technique.

How the candidate could have improved their answer

(a) The first reason would have been better if it had referred to profit rather than money, but the reason is clear enough
to be awarded two marks for a reason that has been explained. The second reason stated is then repeated (to fill a
gap in the market). To be awarded the second mark for this reason, the candidate should have explained their answer,
for example, adding that this would mean the person would not have competition and therefore potentially be very
successful with high sales.

This section explains how the candidate could
have improved each answer. This helps you to
interpret the standard of Cambridge exams and
helps your learners to refine their exam technique.

Common mistakes candidates made in this question

(a) Some candidates provided answers that just described or repeated the reason, for example ‘to make a profit’ and
‘make money’, but did not provide an explanation of the reason. Some candidates tried to apply every answer to the
business in the case study, but this was not required because the question was generic. Some candidates tried to
answer a slightly different question: why set up a business as a sole trader, rather than a partnership.

Often candidates were not awarded Lists the common mistakes candidates made
marks because they misread or in answering each question. This will help your
misinterpret the questions. learners to avoid these mistakes and give them

the best chance of achieving the available marks.
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Question 1

Example Candidate Response — high Examiner comments

1

(a) Explain four reasons why a person may set up their own business.

Reason 1: ..... Towmmmveﬂ ...... %oxfws&m ..... eneS o

gakishied) | coit Hhelv ¢ wmm.t.....l..e,.\./..e,.\....@.J@....fmqme.,“..ﬁﬂt%.
Wsﬁdmbusxwesstowahdt ..... &b

Reason 2 Tormwole.,%wobqusewh&ﬁm‘tam ............
sy, Fh e goson bads the alsencs.

héwe,@% ..... P clo(sevv\cG_M&g(wagx
b ot ‘

The first reason is suitable,
and is also explained because the
candidate refers to gaining more
income than the current level of
income, and that income may be
increased if they start a business.

‘“To provide goods and services
that are missing’ is the same as
‘to fill a gap in the market’. Rather
than explaining why this would
encourage a person to set up their
own business, the candidate repeats
the first point by rewording it.

The candidate provides Reason
3 and then develops this point by
explaining that the person may have
been unemployed for a long time,
and this is a way of gaining a job.

Reason 4 is given. The
candidate explains this point further
by highlighting the benefit of being
independent: not needing to follow
the orders given by a boss.

Mark for (a) = 7 out of 8




Example Candidate Response — high, continued

Example Candidate Responses - Paper 2

Examiner comments

(b) Explain the benefits to BW of employing part-time employees and-full-time employees.'Do you

think Bob.should continue to employ only Qart time employees? Justify your answer.

Par’t—ﬂme employees fosa- e, e,ynmm stk el B eLQ Soduse.....
U‘\&-uid

Ainedy.. cmkhywbzamhmwww@&m
RINYY
5. Wm Arauagh 8. it e B, mcmmpnﬁhkl....o.dlﬁma%‘l
U-@.Uukﬂ
ﬁ?‘;ﬁ‘ﬁw wm%%mhdm Mpswz aémwmum .....

.tsé&%:mouw mmm %maw«q wmwmmu .....

A D LINDP... PMREA... AMW 8. !%WQM o,de.

Full-time employees: FMWWMMmWMh .

W@’&R.&ﬁl\ BWW bhasp. naf: b cansidion it ko be..ol ponmansat...
WMMmmmwmmmh mem
MWWMW,MWMM Me&wmy
PV IS R TEN TR Mmmw%mww
MMMMM hownge&ﬂmm Bl e,

L00n0oe. LXPRAMKL. . angh ah o, Bak. itk expondl B W, Suntirey bul.....

@nmmw m~wmw ummxmwmmu}mm

mmm wmmmww%wxﬂw
mwo&mwg»hww

ot

The candidate makes an initial
statement by giving a benefit of part-
time employees.

The second sentence builds
on the initial statement with a fully
detailed discussion of the benefit to
the business of employing part-time
employees. This is in Level 2, and is
answered in the context of this
business.

The candidate makes a
statement about a benefit of full-time
employees.

The candidate builds on
the initial statement with a fully
detailed discussion of the benefit to
the business of having full-time
employees. This is clearly in Level
2.

The candidate has included
further detailed discussion of the
benefits of full-time employees, and
has moved the answer further into
Level 2.

The candidate makes a decision
in context, but the decision is not
justified in the first sentence.

The conclusion goes on to
be well-justified in the following
sentences, including why part-time
employees are rejected as well as
why full-time employees are chosen.
Overall this is a Level 3 answer.

Mark for (b) = 11 out of 12

Total mark awarded =
18 out of 20

How the candidate could have improved their answer

* (a) The first reason would have been better if it had referred to profit rather than money, but it is clear and has been
explained. The second reason was given but it was not explained. The candidate could have added that this would
mean the person would not have competition and therefore potentially be very successful with high sales.

¢ (b) The conclusion was in the higher section of the Level 3 mark band but the candidate could have included a little
more discussion about why the alternative was rejected.
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Example Candidate Response — middle Examiner comments

1

(a) Explain four reasons why a person may set up their own business.

Reason 1: ... 1. e PEBSON...CON.... LELONE. ...
_ich. Qad...réamous 45% ..... buSSI0LSS.. ...
...,Ku.&%.Q.J.L.‘ ...................................................................... S——
Reason 2: ... NE.... PRESON... CAD..... 0 otmwm ....... ‘
o). Sdeas . o @mbﬁmwwshi‘o ......................
s, Mk ARG e R
Reason 3: ... W& ... QQMOQ ........... Shi’ ..... neot. he.able fo..
%ndéﬁﬁekeoohw"r%auosd ........................
éumainiag Uan{olu%(w( aad.... OO*Mmuv\ngan ..........
212y oy T
Reason 4: ........ T04.... ()91240(\ might... cpcmf olediels..
MW= kvl LSO oooefk?ﬂ% heons.and..Make.....
e TS A N Y S

This first reason is stated
‘to become famous’, but is not
explained further.

The second reason is stated,
but with no explanation about why
this could encourage a person to
start their own business.

Reason 3 is stated and then
explained.

Reason 4 is stated, but the
candidate does not explain it further.

Mark for (a) = 5 out of 8




Example Candidate Response — middle, continued

Example Candidate Responses - Paper 2

Examiner comments

(b) Explain the bengfits to BW,of employing part-tim'eemployees‘-andzfull;-time-employees. Do you
think Bob should continue to employ only pari-time employees? Justify your answer:

Part-time employees: . Pur k. Rme.. lwarers. e Hiose. tedrer. ko ol
lesser. Hacva... Hat.ainipauna. vegaived. hanrs. 0. 0. Aid=time
.€I/.VupLQQT.&Q,.,.T&ZK...Q.KQLM.F?..uf....3..'h.Qk},,f.S?....Qx...f:!._a/%..,...:Lf.@...ktﬁ!éﬁ'&.,ﬁ ..........
ek THL. beni fk...of...pout.=time. Lovicers. . Or e Sk Yty
.QW.C...Q@L.QQ@(?@L...K‘.".’.MS?&/.\....QL...M&.A.?l‘tm.&..WW.@.@&,/.‘.M..,.Q&I.:S'.L‘LQ(.V -
antkage...of. Rork-pme. Lok S, .ace. faak HUelx. producfu’t
.m.ox,g...lo.z,....().t).w.r...Tfk\eaZj....Ds&b.@....%&2,9:...p.cu‘_c)\....l‘.n....m.o.uge&

FulHime employees: . Fuld =k eusptogees.. are.. taose. Who..ork
s regudve. hetaes... o et R pals... For. exaagpls....S....
hetwsmo{o&g,lhbhmrsawwawwmﬁ“éufm—
hmewwgmarﬂfwmrpm%ww(—y%N\oe«
.W....—E@...mfah..,A..ﬂt‘e}z..f,c.Lz,i&..c.z.a{Mcm&gﬁ.'z....z‘.s...m;z.cﬁ.@gpmfw
g ek e, e mapleyesd.. They olbo. gek. pardl..)........
QUL RA 5 ettt e
Conclusion: ..H/,(ﬁ.ﬂg)...m‘m\g...pmctmk(ma..mp.ij.mas..mosﬁ..,\m_ ............
:mgeﬁ.,...b%...%w..\5....p.\c.‘:xM.Qk.t&l\'.\ﬁ...mm&...g}.@....eloxz\.ﬁ.n.,.;....
c@mo{%qmmtoﬁw‘aw-s&umr—%a@wom .........
mwo\ecm%almwk\aobswolmmw—ﬂmen
~uaplageod.. Thds..mey. oSk m. uor . ok Ma.... BW.s
..Pk.QCUA.Ch‘.w:Jr@....OL().D.{...%.(/.\.Q(/.(./I:éy.....Qﬁ...UU.QILL...IA‘)‘.‘I..\/i...L\A.CA.’?@.M..e...,..
Ailadsda. Lovdol. Ineitade. N inue. .. MehA]. B rek .-

The candidate starts with a
definition and does not state a
benefit of employing part-time
employees, so does not answer
the question. The candidate then
states a possible benefit of part-time
employees (they are cheaper) but
with no explanation. This is a Level
1 answer. The disadvantage is not
required because the question only
asks for benefits.

The definition of full-time
employees is not required. The
candidate states that full-time
employees are more productive, but
with no explanation. This is a Level
1 answer. The disadvantage is not
required because the question only
asks for the benefits.

The candidate makes a
judgment with some justification,
and this puts the conclusion into
Level 2. The candidate makes a
comparative statement between the
two options. They then make a clear
link between the cost of employing
full-time employees, with the benefit
from increased productivity and
quality, possibly leading to higher
revenue and profit.

The answer is generic and does
not link to the details of the business
in the case study, such as how
many employees it currently has, or
the nature of the service provided.

Mark for (a) = 5 out of 8

Total mark awarded =
10 out of 20
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How the candidate could have improved their answer

(a) Reason 1 was stated but not explained. In fact, there were two potential reasons stated: ‘become rich’ could
have been interpreted as ‘to gain a high income’, and ‘famous’ could be interpreted as ‘to gain recognition or
status’. If one of these reasons was explained, then the additional mark for this reason could have been achieved.
Reason 2 could have gained an additional mark if the stated reason had been explained. For example, the person
would gain satisfaction from watching their business grow and achieve high sales from their ideas. Reason 4 gave
an example of the decisions the person could make, which could have been improved by saying that if the person
worked for someone else they would have to work the hours determined by the business.

(b) The candidate could have improved the answer by starting each section with the benefits of employing part-
time or full-time employees. The benefits could then be explained to move the answer up to Level 2. For example,
part-time employees can work only at busy times and saving BW costs. A well-justified conclusion would have
moved the answer to Level 3.

10
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Example Candidate Response — low Examiner comments

1 (a) Explain four reasons why a person may set up their own business.

Reason 1: TAWW ......................................................................... An acceptable reason is given.

An acceptable reason is given.
Reasons 3 and 4 repeat Reason 1
and Reason 2.

Mark for (a) = 2 out of 8

1



Example Candidate Response - low, continued

Example Candidate Responses - Paper 2

Examiner comments

(b) Explain the benefits to BW of employing part-time employees and full-time employees. Do you
think Bob should continue to employ only part-time employees? Justify your answer.

Part-time employees: Do i Q..o Erades...ond. e ..
LmPoys....H m.t:.f(l.'\ma.....@m\ogf.e.sf..Ihe......qd.v.qﬂ.t.qgﬁi..%..@maow@
...... Lbme.. empoyBes... ave.. thob... lead . wages. have.

..... ¥ D.......Lz.e....pgic,\...aﬁ...j:.ncﬂ..moﬂsm.égz...l..esscz....hm:;...and..
.ONck (0. C)ean... Ene. Londows. . Lot Hhe.Same. e o The
Chivatvantoges.. AL Lhey,... dont.gee. Bne. ;0. PRMANENE ard
.Q}Q.‘\eﬁs.‘\.iml\:}.tﬁ‘..b.&..\)‘mmol:.ep?..S.Q....i}bﬁ.g}...wom:..m.e.et...tb:h;?:?eigomt
RO ' E ST 1= T V2 T Y Vo S—
Full-time employees: Fu\\t\me,C\np\Qgee&,WQﬂsboz ..... (o

Conclusion: .. R0..ig..... A.....508 . rader.....he wawdh..........
need.. pad.tbime. e m.{).\.Q.gAQQS.....dsf?,...??he&...uaodd..ﬂc ..........
Qvanlae  Sveystime. but. Dovlztime. employees.
....... WOnE. €. AVALIQUE.... vea). Lie... (.. Ul bime ..

The answer starts with a
statement that uses relevant
information from the case study.

The candidate provides limited
discussion of the benefits of
employing part-time employees.
This benefit has not been explained
further and this is a Level 1
statement. The disadvantage is not
required for this question.

The candidate provides limited
discussion of the benefits of
employing full-time employees. The
benefit of employees being loyal is
not explained further and this is a
Level 1 statement. The
disadvantage is not required for this
question.

The candidate makes a simple
statement about whether to
continue to employ only part-time
employees with no justification. This
is a Level 1 answer.

Mark for (b) = 3 out of 12

Total mark awarded =
5 out of 20

12
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How the candidate could have improved their answer

¢ (a) The candidate listed four reasons, but the reasons needed to be different. The answer could have been
improved if four different reasons had been given, rather than two. Each of the four different reasons should have
been explained to improve the answer even further.

* (b) The benefit of each type of employee to the business could have been explained which would have moved
the answer into the Level 2 mark band. The conclusion stated that full-time employees work longer than part-time
employees, but it could have included a justification for the choice made. The candidate could have added that full-
time employees are available all day which may make it easier for the business to respond to a sudden increase in
customer demand. This would have made the statement into a justification for this choice.

Common mistakes candidates made in this question
(a)

+ Some candidates provided answers that just described or repeated a reason, for example ‘to make a profit’ or
‘make money’, and did not provide an explanation for the reason.

* Applying the answer to the business in the case study, which was not required because the question was generic.

* Some candidates tried to answer a slightly different question: “Why set up a business as a sole trader rather than
a partnership?”.

(b)

+ Candidates needed to read the question carefully and recognise that the question was about benefits to the
business, rather than spending their time discussing the disadvantages of each type of worker, or benefits of being
part-time or full-time to the employees themselves. The disadvantages were only relevant in the conclusion as the
counter argument to the chosen type of employee.

»  Generic textbook answers with no application to this case study.

13
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Question 2

Example Candidate Response — high Examiner comments

2

(a) Explain two reasons why Bob used@@when carrying out a questionnaire.

Reason 1: ét@mmx%mg Dasthod. ALt tuhdlg.......
T b, SuadhoA
~PEPALaHOA. A, NBL \a.ouua @%ﬁﬂrm .eslumatod. Lonapls. is..

Explanation: .-Auuce.. Boke via 0.shate ok, anel. Snlty. bas.. S1800.......

‘-"&QW\Q.ULM% M\‘»‘WMMM Jaranee. . EFTY S

W“‘“‘J‘&W"S wwa,aumw&mhfogm mmm ........

meams
ADALAA, MWWMMMMMM .........

mm%mm e e e s e

P BW ond Wiy AS04s WReld Liigs paae Ha +am.
Reason 2% ettt M ....... ‘ W ............ YT

SM neen. .. MM Hnn.ﬁ;'nw Retagyadt...s... pradond-Jen.....

m&wl&w "*QM Y INTITIU T megx,,pwwum TN
Susked | Capapling wulhaliow iy o be THos means

Hot Bbo—agtren Bu's AP UL L be Soduead , bask
Aot than peanleok Aabaseh wamldh AU e walid -

18]

The reason is clearly stated and
is linked to reduced cost.

The candidate makes a
reference to Bob being a sole
trader and only having $1300
remaining, so is awarded a mark for
application.

The answer is well developed
because it fully explains the cost
effectiveness of sampling, and why
it means more funds are available
for the expansion of the business.

Reason 2 is more clearly stated
in the first part of the explanation
rather than in the ‘Reason 2’ line.

The candidate makes reference
again to Bob being a sole trader
and having unlimited liability, so is
awarded a mark for application.

The answer fully explains why
targeting a specific sample would be
more effective.

Mark for (a) = 8 out of 8

14
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Example Candidate Responses - Paper 2

Examiner comments

{(b) Explain the following three methods of promotion BW:could use. Which. method should Bob
use? Justify your answer.

e Leaflets

* Advertise in local newspaper
¢  Social media

rint |eqfleis
hot..?r.qke,..f@.o...fnuch..ﬁww.-..:ﬁglz..csmld..ngin.barxﬁ;‘-pﬁ:l@ﬂé&‘in...Qho,.pirg..m@.llﬂ;...t.uh;“ch
Cottomers

svee. . Yoreore, die deediets con save. Yhuse. leallels, oy night=. beep. thum

possfast adadiiinly

BV oo ooy povide. Sendles. b cosfomarp S My localtly by-udng. wwgpapers 1t

ool ard_may g0 snnoeed: Ao, advertiig Tn_block and white. newspapers noy-

not- ceem eIy appealing 1 QUdtogry T e A
Social medias:}.....' .................................. n\ 2 beneftd_of ug

by using fodfal. el vogular. wstomors mlghl. Chare._adverls_obodt AW b Yhalr

6%:1.&.‘9.\12‘?.9.1’...39lz..wm.\fwgé,li%sgm&%.pfo b..oight fd._godel medto_adverfievart

hwantes Howers, e pesple. oigh. d._Jorle! madto. adverfl
at\m@g‘mg....wg.. e (M mhgn ot be.able fo. reach oyt ho
[]1) gée !’_1) Qe

Recor‘m)wer?‘i)enc\gt?on: .......................................... I{‘mfgh'('berecomendedﬁd‘rﬁw

newspapert. mlaht be yneced out by mbende) customers. Bu_uel
Qpli)fipﬁpd g misfe g m ey, 9\) 109

wem.....services...mightt. be.. spread. acogr. dfforent. ploces whore. BW._might. ool (121
be oble to prov)d! a’ service.

The candidate clearly states the
advantages of using leaflets. They
are cheap, and customers may
save them for later reference. Both
points move the answer into Level
1. The candidate applies the answer
by making reference to the window
washing service.

The candidate makes a detailed
discussion of the advantages and
disadvantages of using leaflets.

A clear advantage is stated
for Level 1 marks. Then there
is detailed discussion of the
advantages and disadvantages
of using advertising in the local
newspaper, so the answer moves
into Level 2.

The candidate gives a clear
advantage for Level 1 marks. They
then give a detailed discussion of
the advantages and disadvantages
of using social media, so the answer
moves into Level 2.

The candidate discusses the
three promotional methods in
detail and in context. The answer
has a justified recommendation
for using leaflets, and is in context
by referring to the price of $11 per
house. There is a brief justification
about why the alternatives were
rejected. The answer is near the top
of Level 3.

Mark for (b) = 11 out of 12

Total mark awarded =
19 out of 20

How the candidate could have improved their answer

(a) This answer was clear, well-developed and applied to the case. However, the first reason added details at the
end that were not awarded any marks. When time is short in an examination, it is better not to extend the answer
too much or a candidate may run short of time to fully answer other questions.

(b) To improve the answer and move it to the top of the Level 3 mark band, the candidate needed to add more
detail for the justification of using leaflets. The candidate made several statements about the benefits of leaflets,
rather than justifying why leaflets were a better choice for this business over the other two alternative methods.

15
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Example Candidate Response — middle Examiner comments

2

(a) 'Explain two reasons why Bob used sampling when carrying out a questionnaire.

Reason 1: 72’5_0"86(0 ...... s e(,"?c .......... 8 YQUPOF ......

......... CUSRODIEYS 2 e
Explanation: BQb ...... USEd ....... som )5)’7 ....... l(o ..... L,OY e” ..... [ S
..... SPecittc...grou )..of . custormers_, uhidle cortyn
Ouk...0...aueshennaire. Wi bes é’nﬁma/“ongj

owe(’efl’«ewoe%n L &JhaﬁggF ......
...... and the .k PeoFP@oP’ecé»oemP/%hsAse\gces

....... QUESIRONDGLIE ...ttt
Explanation: ...... §C/657?a§p€C'ECﬂUMbEYO? ‘.G’.Q/).)ﬂ
s cheofexr. Y Pon 69}?»20’” v Pofldehen.

eshonnaf)’c- s he s o Sole ke

Ghouk. te. Queshonaatre... A.hels. . o Sole Sadey,
..... h rSmaYkef"’nabvd ek twouldnk

The candidate gives a valid
reason about why Bob used
sampling.

The explanation for Reason 1
outlines what information may be
found by using market research, but
this is not what the question asks.

The candidate provides a
second valid reason: reducing
the cost of carrying out the
questionnaire.

This point develops the reason
why it is cheaper to ask a sample.

Application marks are awarded
because the answer refers to the
fact that Bob is a sole trader.

The final sentence completes
the explanation about why sampling
will reduce costs. It also includes
that reducing costs will be important
to this small business because the
marketing budget will not be high.

Mark for (a) = 5 out of 8

16




Example Candidate Response — middle, continued

{b) Explain the following three methods of promotion BW could use. Which' method should Bob

use? Justify your answer.
Leaflets

«  Advertise in local newspaper

¢ Social media

Leaflets: ..L&qf,(&ﬁs..,..Fs..,.o\....C;.wio.,/ﬁ....M@JSMM.,.@E..q.d.u@zhhfo(ﬁ....gﬂ.mf
bradfgeds. . nformedtion. 8. printed.. 0. 0. ShL e of. . paper

VR fox. Lacg ehiag. £ Cortala. ouleedS. . for. e xongple

Qentrol businets aastrict

ue
.peo.p:m....wm,..w.o.r..Lg..f.o“.».eh..&%&é&x...w:.g.—f.—.@:m..,....o.t....p.m.p‘m..i.
w\/\mhmc,oﬁogs ................................................................................................

Advertise in local newspaper: He@verb'am(g/‘nfowwnwgpaxpm
reochs..a. torge. vamber. of.. pesplt.. Tods. mettarel. Loanet:

merandl 18 Whe il For. local bvdineaseR . SUek. a8 ...
..(Amr@.....mm—.ms.,...eixsj..Qman.z‘.mg...,...c@m.p.mc‘.aa..agg.u.;qg...\;‘..ubs.,
0 et et
Social media:..U.s.‘so.@....Sp.gc.o.ua...fmgm‘a..Po.t...aduejﬁh“m‘m@...1‘.&..;mmfal\4,,.
Mg bl for. dmter. M mn oking.ad.. Lompoalied. . TS ...
Metuncl. Yool es.. fudpliesnes. Woxlolidide . Dk L5 Can...
...%o..;E:ara.ek....x.p.@.at‘ﬁ.'c,....m;@.rbmx...w.(.{-.h....’r@.@k@.i&l..ﬂ:&chﬂ&&@@.g .
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Aol o g MR APPL o B s
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....g.p..G..&:‘.‘0.0...I:fzge...M&Wa‘{p072e;:...Lm.ouicl..4\9.1...mo.Kﬂ,.@{p.em.blyL.@mﬂwwf
kpD(cnﬂf\gl}q‘ﬁ(&h&OwauLMQYamcfhW,s .............
+ur3@fwfmmrm#eomud,mwmamgQW\SMQW
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Example Candidate Responses - Paper 2

Examiner comments

A limited discussion on
‘leaflets,” Level 1.

A limited discussion on
methods, and the answer remains
in Level 1.

Another limited discussion on
methods, and is in Level 1.

The candidate includes detailed
discussion in their recommendation
for the chosen method of
promotion. They include
comparative statements between
the methods of promotion. The
recommendation is in the context of
this business because it refers to
BW as being small. It is not a small
company, but reference to
‘company’ is ignored because the
candidate still recognises that the
business is small in size. The
answer is Level 2, and because the
answer is applied to the case study
and is not generic, it is awarded a
higher mark within the Level.

Mark for (e) = 6 out of 12

Total mark awarded =

How the candidate could have improved their answer

11-out-of 20

out Or4v

¢ (a) The answer could have been improved if the candidate had focused on how targeting a specific group of
customers would have benefited the business, rather than outlining what information Bob may have found out
through market research.

¢ (b) The candidate could have improved their answer if each of the three methods of promotion had included a
detailed discussion in the context of BW business.
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Example Candidate Response — low

2

(a) Explain two reasons why Bob used sampling-when carrying out a questionnaire.

Reason 1: .Lim“:.cd....Eur:r.‘eﬂ.b...c.u\sl-umea...".‘Md.t.: ................................................

Explanation: B&cwﬁ:....&k 04‘3 L\asullw‘ithCustumexf e

.cunrentla a..semple.. wm;ld haveallowed. s, _ea. vndcrstp;nd....

Explanation: S&m:rhra uou\& l’\M A“Dwe.J, B,,}, .. \dmh/*ﬁ the..

choroetenshes. of. Ws... *Nact AaYkth.. and. bo. toilar...glns..

acwr&rgla e wauln\ hove.....showon.. i, the iacomes.. .0f
the...., mmaemkzt....sgam{- ,Sa he... coold ARk I LES

Example Candidate Responses - Paper 2

Examiner comments

Reducing the time taken to
carry out a questionnaire is on
the mark scheme as a reason for
sampling.

This explanation is about the
information provided by market
research and how it can be used,
rather than why sampling was used.

Mark for (a) = 1 out of 8
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Example Candidate Response - low, continued

(b) Explain the following three methods of promotion BW could use. Which method should Bob

use? Justify your answer.

s Leaflets

*  Advertise in local newspaper

*  Social media

Leaflets: .. LEBIRYS...O%C.....NExRNGIVE. . IE AePends. if Ve......
...h.\'z.eg.,..p.eo,.{)).e,.....t:o......f;ﬂ.\..\......J.QQ.U.\.EIE......[Em.n..i.t...migh.t..b.ﬁ.ﬁ&ﬂgml‘ve,
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‘

0Xacked kgt allhe Mokes. it attdChivay.. Qnd.....

L fEopIe. anoarg. bhe... s ingas.. 000k heis.. .. inCaeasing. L0cones
B0, FR.... QL. Dave.... 05 CALMeCS... L2 iz worki.e Th.
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e Se L chone®s. . Ehat.. People. might. noL... 2800 Nisadvertis ane,
Social media:.. 20CIA\....... MAQ....... 5. ANAIC... B, eveay one.....
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Example Candidate Responses - Paper 2

Examiner comments

There are two limited
statements that are about the cost
of delivering leaflets, and that
people may not read the leaflets if
they consider them to be junk mail.
This is credited as two statements
required for a Level 1 mark.

The first part of the discussion
is vague. However, there is a
statement that newspapers are
expensive to advertise in. The
answer remains in Level 1.

The discussion remains limited
because there is no explanation
about why using social media
might lead to more customers,
apart from the posts being seen by
a greater geographical area and
increasing competition. These are
basic statements without detailed
discussion of how or why using
social media is an advantage or a
disadvantage to the business.

The candidate makes vague
statements in the recommendation
that are not a simple justification of
the choices, so the answer remains
in Level 1 mark band.

Mark for (b) = 3 out of 12

Total mark awarded =
4 out of 20

How the candidate could have improved their answer

(a) The candidate could have improved their answer if they had focused on why sampling was chosen, rather than
the information gathered by a questionnaire, and then explaining how the information could be used by the
business. Candidates need to read the question carefully and ensure that they are answering the question that is

being asked.

(b) The candidate could have improved their answer if each of the three methods of promotion had included a
detailed discussion. This would have moved their answer into Level 2. If the discussion had been applied to the

case study, this would have moved the answer to the top of Level 1.
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Example Candidate Responses - Paper 2

Common mistakes candidates made in this question
(a)

+ Some candidates discussed the general use of primary research and were therefore did not answer the question.
They focused on the information gathered by questionnaires and how the information itself was useful, rather than
answering the question and focusing on the technique of sampling.

* Answers were not always applied to the case study.

» Some candidates thought sampling was showing a sample of the product to the customer and using the sample
as a promotion tool, which was a misreading of the word sample.

(b)

* Many candidates gave answers that were generic and unsupported, for example, ‘leaflets will attract people’ or
‘leaflets will reach a lot of people’. However, their answers needed to explain how they would attract or reach lots
of people. Other vague statements, such as ‘it is expensive/cheap’ were given for all three methods without a
detailed discussion about why this was an advantage or disadvantage to the business in the case study.

+ Recommendations often did not fully justify the choice made, or why the alternative methods were rejected.

» Reference to the case study was often omitted, and earlier discussions were repeated as a justification in the
recommendation section, rather than a comparative discussion of the alternatives.
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Example Candidate Responses - Paper 2

Question 3

Example Candidate Response — high Examiner comments

3

(a) Explain two reasons why working capital is important to BW.

Reason 1: .......... o ea%ﬁmdaﬂ%c(w&.@{; .......................

Explanation: e Fox each.. house . cleaned... .3 O\thv,& ......
a.Nosdobls cost of B\ The eardHMe. ...

\ecweWﬂobtsunal:l«t{o(’o,%3(501eoA€sﬁbzr%u
voo. he Al 0ot be bl L8 88 b,
Reason 2: \('Y\P?SO\IQ}\AA .......... COAhg'(OW ................................

Explanation: ...... \¢ Beok. . Jwns. e toot..coah e el
ook e able. Lo advestise. BUI... As.a. Saulk, ...
Jhesoillast. e obla. Lo Aindl. Q. costomens..

He ool oot ke . able e ponchase. eguiement.

..........................................................................................................................................

The candidate gives a valid
reason.

This answer is applied because
it makes use of the information in
the case study, and the candidate
refers to the cost of wages.

This sentence explains the
consequence of not having sufficient
working capital, and the importance
of Reason 1 to the business.

The last sentence gives another
example of a daily expense, and a
mark has already been awarded for
‘paying wages’.

The mark scheme allows
‘liquidity’ as a reason, and improving
the cash-flow of BW would help to
ensure it does not lack liquidity.

The first sentence gives a
consequence, and the importance
for working capital. The reason is
developed and is awarded a mark.

This is a further development
of the consequence of not having
sufficient working capital, which
means that Bob might not be able to
advertise the business.

The answer goes on to consider
investment, which is not a use
of working capital. If an answer
includes incorrect additional
explanation, it is ignored and the
part of the answer that is correct is
awarded marks.

Mark for (a) = 6 out of 8
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Example Candidate Response - high, continued

Example Candidate Responses - Paper 2

Examiner comments

(b) Consider the three main styles of leadership Bob could use in his business. Which leadefship

style do you think he should use? Justify your answer.

meanx...tdmt....l.\ﬁ...‘l.i...Salel.a.;n...c'om:é:hgl....o/:‘.o.n.....1?.1.1..5.146—‘.3.5:.A..ma}.ée)::s...q(.‘ld..
tl,tem‘.;s,...ﬂ?..m§:J...tv)...mﬁg.m-ba)a!g...ﬁma...qumumfmﬂmd..w}.tlx..o&mm .....

However,.no...new... produckion..or. . business...ides...con...come...in...ond.

Leadership style 2: .aab..cm..usﬁ....a..d.em:xmh‘.c...&a.lz_..cf:..Lﬁadgﬁdkp.e.'.m:..

mgM.sz...-tl\ae.Ju;,...con.sulﬁs‘..u'xd.;....o.tl\en...m.gml:.er.-s...w.lz\.m..dec).ding..nn...a\mA.
. ' L
.'lclEA.,..lecL...em...allow....BW.,..ko...Len.eﬁ&...9,9...H&Luaue...fldw..Can...‘L;:. e

emplog e

.Hﬂweyet:.,.. QYRR /Y ..!.\Q.ﬁ....S.F..PA.A,....QS....MU(‘]'\...&;M&...nn\...‘.dn@‘lr

LHau.zexer:.,..em;al%‘.ae.s:..maa...& ..... wclear...on.. their.wales...of. work..
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4r.‘,a.dSi‘.'la....It..ﬂ...)?ﬁﬂ).’.‘....caﬁ:&...‘M(J..A.(Qﬁé‘d‘...?mﬁb.a .............................................

- Recommendation: ,Bpk.d)aoul.cl....us.e..c«....o(fmo.cr.al-:.‘c.....sﬁd.lc...QF{...L.eademL-P,

Badnma.sal\enm ...... Gon...i00porttsit. .. Ml‘....&ast.‘.é‘.ay}?.......
. Provide them
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The candidate correctly
identifies the name of the leadership
style so is awarded Level 1 here.

The candidate identifies an
advantage of using this leadership
style ‘no need to waste valuable
time’, and then discusses the
disadvantages of there being no
new ideas and lower motivation.
This balance of advantages and
disadvantages moves the answer
into Level 2.

The candidate identifies an
advantage of using this leadership
style: gaining ideas from employees.
They then discuss a disadvantage
of reducing output when they are
consulting with Bob. This moves the
answer into Level 2.

The candidate identifies
a disadvantage of using this
leadership style, and then explains
the consequences for the business,
which moves the answer into Level
2.

The candidate justifies in
some detail why the democratic
leadership style is recommended.
The earlier part of the answer is
well explained and is in Level 2. The
recommendation moves the answer
into Level 3 because it is justified.
However, the recommendation is not
in the context of the case study and
does not include discussion about
why the two other leadership styles
are rejected.

Mark for (b) = 10 out of 12

Total mark awarded =
16 out of 20
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Example Candidate Responses - Paper 2

How the candidate could have improved their answer

(a) Reason 1 was explained, and was within the context of the case study, but the explanation could have been
developed further. Instead, the candidate gave another example of a daily cost. The answer could have explained
that without employees BW would not be able to trade and provide window washing services to customers.
Reason 2 was explained, however, the answer could have been improved if the candidate had referred to the
case study to gain application marks. For example, they coudl add that Bob only had a few regular customers. The
candidate then could expand this point further and said that he needed to attract new ones.

(b) To improve this answer, the candidate needed to include in the recommendation section a justification of why
the two alternative leadership styles were rejected for being less suitable. They should have also answered the
question in the context of the business in the case study.
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Example Candidate Responses - Paper 2

Example Candidate Response — middle Examiner comments

3

(a) Explain two reasons why working capital is important to BW.

Explanation: ..... %%%\QW\&\MRVQ—% ..... \)&QWQV\LN\SC‘%?\'\H\Q@ .......
Soydies . 300 . galary o Mwm\o&eﬂé .....
ooy B wia Ahg seliiies W salacted vkl gatde,.

o 20000 wou\b\u&w*\“q@mz&)(\mwo\\)&\@b

&w\‘bowwz;\r\?%@o&bé@éwV\sz_&e*waog%(’m

Reason 2. \2.4A"_cavipmanut . afy. waletlale . nded .
,..:%XP....?@\)&A”.Q.. ..... TN N CR Y 1 C, S
Explanation: M@U{Q\bS‘-‘C\"OleW"\{SOWL\/)}N\’BWA}
Aeke et e g, ond.. Caniva..8 m«dswb
ikewts nted B e boodet Brequeatly e 8 Ao
be dble do enuie. duair.. costmus sudb e

The candidate gives a valid
reason.

The candidate refers to cost of
the wages for this business to apply
the example of wages to the case
study.

The importance of working
capital is explained: if wages are
not paid then the employees may
become demotivated and reduce the
quality of the service they provide.

The final sentence is not a
development of the point about the
employees being demotivated, but
instead refers to safety laws for
employees.

The candidate refers to
investment and not working capital,
so this is not awarded marks.
However, the part of the answer that
refers to the materials required by
the business is listed on the mark
scheme and is awarded a mark.

The candidate repeats their
reference to the materials and their
use, but here this is applied to the
case study so is awarded a mark
for application.

The purchase of equipment
is ignored, because it relates to
investment and not working capital.

Mark for (a) = 5 out of 8
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Example Candidate Responses - Paper 2

Example Candidate Response — middle, continued Examiner comments

(b) Consider the three main styles of leadership Bob could use in his business. Which leadership
style do you think he should use? Justify your answer.

Leadership style 1: ...... % ObCOUlC’ ....... use...... AVI"OCYC‘}(PCI@G[
Loexsh .5 %.l.c ...... i Mis S !a.k ..... af leadersni))

Bk would” bive fashuchors o his buo..
..... ) v)*‘*meem /1o ees,ﬁodoﬂﬂcwaéfa“n
L ond. e %ﬂécf - om P ko "oj .........
he. done....p voledy. ... Tevewold e . no.. ..

lecdexshiP s Lo Wis  leodershsp shile = his

Y-
Povlh‘me ...... Emﬂo eex.... would ake.. be..tnvelved

. Cectdin

e

Level 1 is awarded for
identifying the correct name of the
leadership style. The candidate is
awarded a mark for correctly naming
all three different leadership styles.

Leadership styles 1 and 2
are descriptions of the leadership
style, rather than an advantage and
disadvantage of using the styles.

Leadership style 3 is also a
description of the leadership style,
but does include an advantage:
allowing the employee to show
creativity. As the candidate does not
explain why this is an advantage to
the business, the answer remains in
Level 1.

The recommendation
does discuss the chosen
democratic leadership style. The
recommendation is in the context
of the case study because the
answer recognises that Bob wants
to increase the sales of his window
washing business. It identifies
that his employees will be more
motivated using this style and
therefore is the best style to choose.
The recommendation is in Level 2
and is not at the bottom of this mark
band because the answer is applied
to the case study.

Mark for (b) = 6 out of 12

Total mark awarded =
11 out of 20

How the candidate could have improved their answer

* (a) Reason 1 was correct and was explained within the context of the case study. However, the candidate could
have expanded the answer to explain that demotivated employees providing a low quality service were likely to

lead to lower sales.

Reason 2 was applied to the case study, and could have been improved if the candidate had explained why it was

important to be able to buy cleaning materials for the business.

¢ (b) To improve the answer, the candidate needed to discuss the advantages and disadvantages of each
leadership style in the context of the case study. This would have moved the answer to the top of Level 2. The
recommendation may then have moved the answer into the Level 3 mark band if it had included a fully justified
choice of the best leadership style to use, a justification about why the other two styles were less suitable, in

context of the case study.
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Example Candidate Response — low

3

(a) Explain two reasons why working capital is important to BW.

Reason 1: TOPCUS&Q)\%—V\L(}%%Me

e eatet dwldenrthhe von..Tepary.......

...........................................................................................................................................

Explanation: O"A“j ..... bew ..... UA,Q)\ H%C!}P‘lw ............
ARG T B egenaking. .
....... Crof &

TV 0N

Example Candidate Responses - Paper 2

Examiner comments

The candidate gives a valid
reason.

The candidate gives an example
of the day-to-day expenses which is
applied to the business in the case
study, so is awarded an application
mark.

This is not a reason why working
capital is important.

Reason 2 is not correct, and
although the explanation part refers
to the fixed and variable costs given
in the example, this cannot be
awarded a mark.

Mark for (a) = 2 out of 8
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Example Candidate Response - low, continued

(b) Consider the three main styles of leadership Bob could use in his business. Which leadership
style do you think he should use? Justify your answer.

Leadership style 1: A"th"'mﬂ(ﬂ/ in_ this method  the

P have .....................................................................................................

L eadership style 2: Dem::ova’r‘:o,m ....... -Hﬁs ....... m GH\"‘A ...........................
e involve  employee to  make

Leadership style 3: ... 0L i D e
ot give | Yhe introdection and  iformafion
gnd W et

Recommendation: I ......... QI AR B/ Arrnns ot SOOPUTOTIR V- AREN R4 10 L SSSOT e SUUPPUROION

awthewmete s

Example Candidate Responses - Paper 2

Examiner comments

An advantage of this leadership
style is stated which moves the
answer into Level 1. The name
of the style is not correct but it is
clear which style the advantage is
referring to so it is awarded a mark.

The leadership style is correctly
named and an advantage of making
the employees more motivated is
identified. However, the advantage
is not explained, nor a disadvantage
included, so the answer remains in
Level 1.

The leadership style is not
named correctly and it is not clear
that the candidate understands
this style, because they refer to the
customer rather than the employee.

The recommendation does not
justify the choice made, apart from
repeating the earlier point and that
has already been awarded a mark.
Therefore the answer remains in
the Level 1 mark band. The answer
cannot be awarded the top marks
in Level 1 because it is not in the
context of the case study.

Mark for (b) = 3 out of 12

Total mark awarded =
5 out of 20

How the candidate could have improved their answer

(a) Reason 1 (to be able to pay day-to-day expenses) was applied because the candidate referred to the cost
of fuel. If the candidate had explained the importance of paying these expenses, this would have improved the

answer for Reason 1.

The candidate needed to give a correct reason listed on the mark scheme for Reason 2.

(b) To improve their answer, and move it to the top of Level 1, the candidate needed to refer to the case study. To
move the answer into Level 2, they would also have needed to discuss the advantages and disadvantages of

each leadership style.
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Example Candidate Responses - Paper 2

Common mistakes candidates made in this question
(a)

+ Some candidates gave examples of working capital, but did not explain why it was important for the business to
be able to pay them. For example, without cleaning materials the business would not be able to satisfy customer
demand which, would lead to a poor reputation and less revenue from washing windows.

* Some candidates thought that working capital is used to fund investment.

+ Many answers focused on general points about leadership styles, often found in textbooks, for example, ‘it will be
motivating/not motivating’ without explaining what this would mean for BW.

« Often the answers did not use the information provided in the case study.

*  The recommendations did not always justify the choice of leadership style. Instead, candidates chose to state the
style chosen, and then repeated an advantage included earlier in the answer.
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Example Candidate Responses - Paper 2

Question 4

Example Candidate Response — high

Examiner comments

4 (a) (i) Caloulate the break-even level of output for BW using the information in Appendix 2.

. {iii) |dentify four ways break-even analysis can be useflﬂf____tg__a_iu)gm_gss.
..Gan. Aok pofit. ovlegs. gty

...............................................................................................................

........................................................................................................................

Ms\w?i‘ﬂ ..... a-ﬂ&ct&efg

So.

...................................................

they oneed gg.p by -

The candidate calculates
the correct answer. It is helpful
to show the working in case an
arithmetic error is made, because
the candidate can be awarded some
marks for this.

Mark for (a)(i) = 2 out of 2

The correct answer is
calculated.

Mark for (a)(ii) = 2 out of 2

Methods of promotion are
usually used to increase actual
sales and break-even analysis does
not allow for this change. The break-
even level of output changes when
cost or price changes.

Way 1, Way 3 and Way 4 all
give a way that break-even analysis
can be useful to a business, and
these ways are listed on the mark
scheme but with slightly different
wording.

Mark for (a)(iii) = 3 out of 4
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Example Candidate Response - high, continued

Example Candidate Responses - Paper 2

Examiner comments

BW's reputation? Justify your answer.

Option 1: Use cleaning products that contain chemicals
Option 2: Use bottles that can be refilled with cleaning products
Option 3: Purchase a new window washing machine

romicals A\ Skl 1R word, whuth  hem Hhe oneinen ment—.

............................................................ P e e R PR A AR A LA PrC AR SR e AP TETERPT PR

ehllbds ... Jondvg,. produsks. mary. ok ke oo vealh

............................................

b) Consider the following three options for BW. Which option should Bob choose to improve

This is a Level 1 statement. The
candidate states a disadvantage of
using chemicals.

This first option applies the
case material by referring to
environmental pressure groups.

Option 1 moves the answer
into Level 2 because the candidate
explains the consequences of the
actions of the pressure groups,
leading to lower sales.

This is a Level 1 statement.

Option 2 moves the answer into
Level 2, because the candidate
explains an advantage and
disadvantage for this option.

This is a Level 1 statement
in context explaining that the new
machine will be expensive at $1000.

Option 3 moves the answer
into Level 2 because the candidate
explains an advantage and
disadvantage of buying a new
machine to wash windows.

The candidate has fully
explained the three options in the
main body of the answer, and in
context, which puts the answer
at the top of Level 2. Then the
candidate provides a well-justified
recommendation for option 3 and
moves the answer well into Level
3. The last sentences about the
other two options being rejected are
simply statements and do not give
reasons why they are rejected.

Mark for (b) = 10 out of 12

Total mark awarded =
17 out of 20

How the candidate could have improved their answer

e (a)(iii) The candidate could have improved their answer for Way 2 if they had focused on break-even anaylsis

rather than increasing the quantity of sales.

* (b) To improve their answer, the candidate needed to include context in the recommendation and justify why the
two options had been rejected. Option 3 was the purchase of a new window washing machine, and because this
is included in the question it was repetition, and not regarded as application. The candidate needed to use the
case material in their answer (as long as it was not included in the question itself) for it to be awarded marks for

application.
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Example Candidate Responses - Paper 2

Example Candidate Response — middle Examiner comments

4 (a) (i) Calculate the break-even level of output for BW using the information in Appendrx .

The candidate correctly
calculates the break-even level of
output.

Mark for (a)(i) = 2 out of 2

The candidate confuses break-
even level of output with the margin
of safety.

Mark for (a)(ii) = 0 out of 2

Way 1 and Way 2 show
potential profit and loss, and predict

.Deeded Ao OVeX. . COSES g how many sales the business needs
‘ ' " LT ‘ to break-even and so the candidate
Way 3TO.CQ‘C‘4\..°I"'Q’|\P.M°\Y§H\Q'( ..... &.q"te't%. ......... |S awarded a mark
............................... i “st" Way 3 ‘to calculate the margin
e A SDRENS S e b wslaess. N9 of safety’ needs to be clearer.
(79& »S‘V\Cf-ts-]-\i\ ........... e Fpnine 41 Way 4 does not recognise that

break-even analysis is a prediction
and therefore is not used specifically
to check the success of a business.

Mark for (a)(iii) = 2 out of 4

31



Example Candidate Response — middle, continued

Example Candidate Responses - Paper 2

Examiner comments

(b) Consider the following three options for BW. Which option should Bob choose to improve

BW's reputation? Justify your answer.

Option 1: Use cleaning products that contain chemicals
Option 2: Use hottles that can be refilled with cleaning products
Option 3: Purchase a new window washing machine

Option 1: .......... BG‘O(,P\U ...... be able. to.. dean. o tnclows
podte.. Thir ool joeveade i precluchiviy andd. ..
enakle. him. Je. woeh more.. soindecas. dofthe. Sao......
Ame.... However,. chemicald. damage. #he. endizonment..

Option 2: ....... Rob.. it . net. | h ONE . do. Ree PPU&C}(‘@J;
wettles. which . duelues bis. coste hu cogks. BW;
&&eumsﬂuﬁll(mwﬂ&%&boﬁlw ..... el be
eniament. envimnmentedde. frenclly, ... Maseves, .
Al e ews*'l/n-}oﬁmplauaumboﬁlu
option 3: ... New __mothine ol meke. . s ool ...
e efbecieat... Thi...san help. Smerove seputation.

a.wge one meff.. cosk. ofern Bob. which lhee. might..

oot be.odle do. oo Me. o2l howe. o eain. ...

eomplogees. sohich . ol (. incrtade. baoing cosk.....
Q not

Recommendation: .......'30\%... ,&hnuld@&&?&!acho&?«&

..4(.\ew...w.%.him.cé.....mgc.h.iae.....czef ....... 158 ARG e

...... BU2 F1POFEATON oo [12]

The candidate gives an
advantage for Option 1, so this is a
Level 1 statement.

The candidate refers to the case
study in the statement about Bob
being able to wash more windows,
so application marks are awarded.

Option 2 moves the answer
into Level 2, because the candidate
explains an advantage, and also
includes the disadvantage of a
bad reputation leading to loss of
customers.

This is a Level 1 statement
on its own, because it states an
advantage of having lower costs.

The candidate explains
the advantage, and gives a
disadvantage of higher initial costs.
This moves the answer to Level 2.

This is a Level 1 statement on
its own, because it states that Bob's
work will be more efficient.

The candidate explains the
advantages, and then includes a
discussion of the disadvantages
of the initial cost to purchase the
machine, and the added training
costs. This moves the answer to
Level 2.

The candidate fully explains
the three options in the main body
of the answer, and the explanation
is in context which puts the answer
at the top of Level 2. The
recommendation does not move
into Level 3 because the candidate
makes simple statements about the
decisions, and does not explain why
the option that has been chosen
is the most cost-efficient, or why
the other two options have been
rejected.

Mark for (b) = 8 out of 12

Total mark awarded =
12 out of 20
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How the candidate could have improved their answer

(a)(ii) The margin of safety formula needed to be used.

(a)(iii) Way 1 could have been improved if it had linked the profits or losses to different levels of output, as stated
in the mark scheme. The candidate needed to make it clear how the ‘margin of safety’ is useful to a business to
improve Way 3. The candidate needed to provide another suitable way break-even analysis could be useful to

a business (for example, to show the possible effect of a change in price on the break-even level of output) to
improve their answer in Way 4.

(b) The answer was at the top of the Level 2 mark band because it discussed the three options in detail and in the
context of the case study. To improve their answer, the candidate needed to clearly justify the choice of refillable
bottles in their recommendation, rather than repeat the advantages already stated. The candidate also needed to
make it clear why this option was better than the other two options. For example, the comparative statements such
as those made in Option 2, (BW could advertise that plastic bottles would not be wasted, but refillable bottles would
be used, which would help to improve BW’s reputation for being environmentally friendly and which could attract
many new customers), whereas Option 3 ‘Purchase a new window washing machine’ would be too expensive for a
new business like BW.
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Example Candidate Response — low

4

(a)

(i) Calculate the break-even level of output for BW using the information in Appendix 2.

.......... foveh. QY. WY 2 SO
' 225
.................................................... S e
................................................. A S e 121
(ii)' Calculate the margin of saféty for BW using the information in Appeidix 2.
..... L A —
........................................................ LSO
vsreiusunhrheuiissiesnnensusnaprnsannenerasiasnsansys "‘Z ..... ii 123‘{) ....................................................
................................................................................................................................ 21

(iii) ldentify four Ways break-even analysis can be useful to a business.

Way 1: TLQ ...... S Z\)L ...... 'M'\L ALK v,

............ T S
Way 4TO%Z&Q% %V( ..... W/IVW .........................

Example Candidate Responses - Paper 2

Examiner comments

The correct formula is not
applied.

Mark for (a)(i) = 0 out of 2

The correct formula is not
applied.

Mark for (a)(ii) = 0 out of 2

None of the four ways the
candidate has given explains how
break-even analysis could be useful
to a business. Each way is too vague
to be awarded any marks.

Mark for (a)(iii) = 0 out of 4
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Example Candidate Response - low, continued

Example Candidate Responses - Paper 2

Examiner comments

(b) Consider the following three options for BW. Which option should Bob choose to improve
BW's reputation? Justify your answer.

‘Option 1: Use cleaning products that contain chemicals
Option 2: Use bottles that can be refilled with cleaning products
Option 3: Purchase a new window washing machine

OPHON T2 ettt ettt e st eb e s s s s ae e ebeseesensassesesaensesenneresansanaeas
eleanng... £ produold . seduge..Hime Yalten.
oo wooahtandaws. oy 80 .and. ik gl
Boe to.date. vnove. Ordeay . Bus et B
....&)Q.,......k.eQQb.\r.?_.o}:..‘..I...b.......’\A....‘..D..Q.\....A,..QX).U?\G.MMQ/.\.’.\;&@&.\L%“W
..m&.em....@.\f.\d....sm.cax”..z,.......@,\.a.Qm\\o.g\&...hwe,...tQ)....bﬁ..pmdfaoeal
Wenyy _woee Nt .

Option 2: ... e .. Q. 2R DONCIAIL. ... 0.0 D 0O
contained . cont. e swiived. . .and. . Apeatk
-contodaens...Jaosd.... he... e ouguE. cnecdans
Joowe..Se. be.... DO k.. 4 QM. @0 QGO

M@ 0. 00y, qpod.... Ring.... L. be.

avammentaliy. gaiondly. L. e 00e. Bme......
Sonoexment.... &mx.....m..n,e,....m.onm......(ﬁ.\r-.'.a.kf..h...m.‘x..\.x....

Recomimendation: ..1......... Havhle 4"‘/\& ........ Ahewd ;ﬂ@

This first sentence makes a
Level 1 statement that BW will be
able to take more orders. It is in
context because it refers to BW
being able to wash windows in 50%
less time.

The rest of the discussion for
this option does not give clear
disadvantages to the business.

This first sentence is a Level
1 statement because it states a
disadvantage to the business:
higher costs.
The advantage of using
environmentally friendly bottles is
not related to the impact on the
business, so the answer does not
move into Level 2.

The advantage of saving
water and chemicals, and
therefore reducing cost, is a
Level 1 statement. ‘It is a one-
time investment’ is also a Level 1
statement, and there is no further
development of an advantage or
disadvantage.

The main part of the answer
is at the top of Level 1 because it
includes several statements that
show a limited ability to discuss the
methods with little explanation, and
there is some application to the case
study. The recommendation includes
repetition of earlier statements and
it is not developed so the answer
cannot move into Level 2 .

Mark for (b) = 4 out of 12

Total mark awarded =
4 out of 20
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How the candidate could have improved their answer

(a)(i) and (a)(ii) The candidate needed to apply the correct formulas for break-even level of output and margin of
safety.

(a)(iii) The candidate needed to make it clear in the four ways how break-even analysis would be useful to a
business. For example, for Way 4 ‘to help set goals and aims for the business’, the candidate could have added
that it would have allowed the business to set a goal for the minimum number of sales to make sure the business
made a profit. The answer for the four ways needed to be more specific about how break-even analysis could be
useful to a business.

(b) To improve the answer, and move it from Level 1 to Level 2, the candidate needed to justify the choice made
within the context of the case study in the recommendation section. The recommendation could have included a
discussion about why the two alternative options were rejected. Discussion of either or both of these in the
recommendation would have improved the answer. The candidate could also have added more discussion of the
options in the main body of the answer.

Common mistakes candidates made in this question

(a)(i) and (a)(ii) Not being able to apply the correct formulas to break-even level of output and margin of safety.
Many candidates could correctly calculate the break-even level of output, but could not calculate the margin of
safety.

(a)(iii) Candidates often gave answers that were repetitive. Candidates also made the way they gave too vague,
for example ‘to help make decisions’. They needed to be specific about which decisions could be helped by break-
even analysis.

(b) The discussion of the options was not always detailed and instead candidates made simple statements about
an advantage or disadvantage, without making it clear how they affected the business. Some candidates did not
write their answers in context, especially in the recommendation section. Recommendations were not always new
and just repeated earlier points. The recommendation was not always linked to the reputation of the business, but
instead was discussed in relation to profit.
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